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100cm 50cm 5cm 100cm 50cm 5cm
1 = ERET 0.07 0.07 0.07 21 |ABEREVELT 0.08 0.08 0.14
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2 |EISRIEFRAET 0.08 0.10 0.16 22 mgM*“D“ 0.06 0.06 0.07

3 ﬁ%ﬁmmm 0.08 0.08 0.09 23 |BE=gEE 0.06 0.06 0.06

4 |[#BEVELT 0.06 0.08 0.10 24 |10 BRI 0.06 0.06 0.06

5 |dEAEE 0.08 0.09 0.32 25 |3Bt HI3pTE 0.06 0.05 0.07

6 |BHEE 0.07 0.07 0.07 26 |BLHkE 0.05 0.08 0.13
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7 | 0.09 0.10 0.14 27 |Gk | 0.06 0.06 0.07

8 |dFEmaEE 0.07 0.08 0.09 28 %éﬁ*% 0.06 0.11 0.25
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9 Egﬁﬁﬁﬁ 0.08 0.12 0.26 29 %ﬁmm% 0.08 0.11 0.44
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10 | 0.08 0.09 0.18 30 |G 0.07 0.11 0.26

1 |FEXEEETEE 0.08 0.08 0.12 31
FuXlEh-o&

12 | 3 Gk 0.08 0.09 0.09 32

13 |wpEmEEL 0.09 0.13 0.17 33

14 |EEAAE 0.06 0.06 0.06 34

15 |wEERRLT 0.05 0.05 0.04 35

16 |#REHR 0.05 0.05 0.06 36

17 |#|WLBL 0.11 0.17 0.34 37

18 |MEmEE 0.07 0.07 0.07 38

19 |mis 0.07 0.07 0.08 39

20 |AB/IMBUELT 0.06 0.08 0.22 40
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